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LA = /C, /B = /DSl oABCD °f| 4]

(A=/C=a
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/B=/D=0pzt
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@ AB =5cm , BC = 5cm , CD = 5cm
@ /A =100°, /B = 80°, .C=8°

® OA =4cm, OB = 6cm , OC = 6em , OD = 4em (2, HO
= F el vH)

@ ABLAD,BCLCD

(®)AB//DC, AB = 3em , DC = 3em
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/BAD + /ADC = 180° °o]|B&

/QAD + /ADQ = 90° °]t}.

watA LAQD oA ZAQD = 180° - 90° = 90°
o7k 2 /QRO = (ROP = /OPQ = 90°
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© AB=BC ® /DAB=90°
@ <AOB = /COB
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5 tj2pA19] o]z} ZehaL 34 nHE R ohth /DAB = 90°
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10. oS 139 HPAIHY ABCD 2] Y o]+ 70cm? ©]1l BP
2:3 o|tt. AABP 9] Ho]=?
D
P
B C
® 5cm? @ 10cm? @ 14cm?
@ 2lcm? ® 25cm?

3

B

AABD = ? = 35(cm?) = AABP + AADP
2:3=AABP: AAPD

2
. AABP = 35 x P = 14(cm?)
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BE:EC =2:1 ¢ uj, H3JAl¥H¥ ABCD
o] {olg a of #afjA vebd A27

@ 6a @ 9a @1261 @ 16a ® 24a

~&B

AGBE = AOBE £} 283} o)) Zol7} o n g Yol7t A2
xdy=

T3 AOBE ¢} AOEC 9] 0|7} Z1 @ o] ZAoj7t2: 1 0|8
2 glo]o] H|&x 2: 1 o]t}
w2t AOEC 9] Yol= g ol
- BYPAPHY ABCD 9] Heole
4 x AOBC =4 x 3a = 12a ©|th

, AOBC €] H°]E 3a °|tt.
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ohg 283} o] SwiAlthe]E ABCD o4 AD // BC // EF, AHLBC
olt},

AG : GH=2:10°]1, Aft}a]E AEFD ¢} EBCF 9] Yo7} & o,
EG 9] do]& Fatoiet.

o1 @2 ® 3 @ 4 ® 5

B

AG =24, GH = a,EF = b2} 5}

OAEFD = oEBCFo| B2

(7T+b)xa (b+1)x2a
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13. o2 13oA AC//DE, BC: CE = 2: 1°]1, AABC = 24cm? ¥
o, ABCD 9] Yo]=?

@ 30cm? @)36cm? ® 40cm?

@ 48cm?2 ® 50cm?

AABC = 24cm?°]1. BC : CE = 2 : 1°9]E 2 AACE = 24 X
1

5 = 12(cm2)

AACD = AACE (- AC//DE, AC = 3%)

. OABCD = AABC + AACD = AABC + AACE
=24 + 12 = 36(cm?)




14. o8 1o HAZEY ABCDOlA A M2 B, €9 &4 ot}
APMC = 24cm? ¥ @], gABCD 2] Y o]& Fatola},

A D
P
B N C
@ 72cm? @ 144 cm? ® 216 cm?
@®)288 cm? ® 352cm?

A D
N
P
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B Vi C

00 9 2 W2 Ao
APMC = APNC (SAS 35
APCN = APND = APMC = 24 cm?
-.OABCD = 4ADMC
=4x24x%x3
= 288 (cm2)




15. o3 IO A ABCD oAl I M2 AB A

o] Z4olt}, AMBP = 15cm? € o], ABCD

o] golE T2 v

BCYSHANS oA

APMB = APNB(SAS3HE)

APCN = APNB = APMB = 15(cm?)

- JABCD = 4AMBC = 4 x 15 x 3 = 180( cm?)




